Hla. @ +29) - GUu—D) =5U%+9U - ¥ — 202 =5%x4%2 +9x5—-2x 22 =117.
b. i+ V)2 =4u%+2U-v+92=4%2+2x%x5+2%=30.

£i/a. AB - AC = -~ (AB? + AC? — BC?) = - (42 + 7% — 52) = 20.

b.AB - AC = 2 (AB2 + AC? —BC?) = - (32 + 42 —3%) = 8.

¢.AB - AC = 7 (AB? + AC? — BC?) = 7 (62 + 107 — (10% — 62)) = 36.

En effet, BC2 = AC% — AB? = 102 — 62 d’aprés le théoréme de Pythagore.
d.AB-AC = AB - BD = —BA - BD = — 2 (BA? + BD? — AD?) = —~(5% + 42 — 72) = 4,

c. —uU-(20) = -2u- :
d U+7)-@W-P)=u2-v2=(12+(-3)) - 12+ (-1)?» =8.

(3la. AB - AC = AB X AC X cos(AB,AC) = 4 x 5 X cos(40°) ~ 15,32.
b.AB - AC = 7 (AB? + AC? — BC?) = 7 (4% + 62 — 3%) = 21,5,
c.Ennotanta=AB,K§-R=a X g=3a.

d. AD =DC, donc 2AD?=3 d’ou AD = \E
ABAC=AB (AD+DC0)=0+5x =52

e.AB-AC =AB - (AD + DC) = AB- AD + AB - DC = AB x AH + AB2 = 5 x 1 + 5% = 30.
e S VLl 2m 1
f.AB - AC = AB x AC X cos(AB,AC) = 7 x 1 x cos (2 + 1) =7 x 1 x 2= 35.



